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x1 BIEOXREBELS
A HBR [it] FH SR ElF FAEER TiE I
1 32.58 32.57 32.17 32.49 32.64 32.717
12 31.84 31.85 30. 98 31.57 32.09 32.83
1 31.29 31.90 31.45 31.78 32.02 32.80
2 32.03 32.00 31.17 32.08 32.16 32.75
3 31. 11 31. 86 30. 83 31.83 31.717 32.59
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A HR fit] FH SR E% FAEE T Al
1 0.57 0.83 1.19 0.76 0. 60 0.37
12 0.48 0.39 1.53 1.00 0.39 0.45
1 0.72 0.37 0.94 1.58 0.48 0.50
2 0.59 0.64 1.20 0.54 0.47 0.53
3 0. 65 0.42 2.13 0.36 0.39 0.39
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11 6.24 9.75 10. 16 8. 41 5.18 2. 31
12 7.08 6.14 19. 54 11.95 3.65 3.51
1 11.35 4.15 11.80 21.09 4.85 4.15
2 8.39 10. 30 18. 46 7.98 6.90 5.10
3 9. 64 4.58 14. 63 3.18 2.90 3.99
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EERB (AR 343 258 154 159 322 148 216 190 146 155 132 0.85
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